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Rallye-calcul : étoile orange 

date prénom : 
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C 

24 + 59 = 

254 + 31 =  

57 + 19 = 

152 + 39 =  

52 + 21 = 

84 + 41 =  

367 + 37 ≈   

681 + 23 ≈   

681 + 22 ≈   

99 + 25 ≈   

981 + 85 ≈   

691 + 28 ≈   



  2 

5 × 9 =  

7 × 3 =  

8 × 6 =  

7 × 3 =  

9 × 6 =  

4 × 9 =  

Étoile orange 

3 × 60 =  

7 × 30 =  

5 × 9 000=  

4 × 600 =  

9 × 90 =  

6 × 300 =  

102 72 36 544 50 

3 ×  

6 ×  

= 21 

= 27 

9 ×  

5 ×  

= 36 

= 25 

7 ×  

5 ×  

= 42 

= 45 

29 - 9 =  

37 - 11 = 

237 - 9 = 

351 - 11 = 

493 - 11 = 

35 - 9 = 

673 - 42 ≈   

845 - 31 ≈   

657 - 35 ≈   

571 - 54 ≈   

98 - 22 ≈   

697 - 27 ≈   


